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English
Lesson - 5
The Spider and the Fly

Answer in a sentence:-

Why does melody come down the stairs to the spider’s parlour?
Describe the spider’s bed.

What does the writer advise the reader?

How did the spider find the fly to be?

Where do the winding stairs lead to?

What was the way to the spider’s parlour?

Which two words does the spider use to describe his sheets?
Why did the fly flit back to the web?

Fill in the blanks:-
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The fly thought that somebody was having a ..............
The spider’s bed has fine ...............

The fly began to ........... listening to the spider.

........ pounced on the fly.

The spider said that the fly is smart but he is ..........

[ have a splendid .......... and my ........... are gauzy.
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To evil advice, close your ........ 5 eeeeeeeenen and .............
II1. Refer to the context:-
1. “P’am the prettiest fly among all the others.”

1) From which lesson is the above lines taken?

i1) Who had spoken this and to whom?

iii) Why is the person saying so?
2. “Oh! you make me feel so shy...”

1)  Who said and to whom?

i1) Who is ‘you’ in the above line?

iii) Who is ‘me’ in the above line?

-3-



IV. Give antonyms:-
1. snugly 2. affection 3. flit

4. clever 5. learn

Lesson 6

Miss Matty Plays a Game

Answer in sentence:-

How many days were left for the annual match to begin?
Which subject did Miss Matty teach?

Who was the meanest substitute teacher?

After how many days did coach Ahuja return?
Summerville School won the match by how many goals?
Who was Mr. Nair?

At what time did the boys start the practice in the morning?

Who was pretending to be whom?

A S R Tt A

Who were the twins?

_.
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Did Summervillae School win the match?
Fill in the blanks:-

The coach fell ............

Miss ............ trained the students hard.
The team did not .......... Coach Ahuja.

p—
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The Summerville ............ team was very lazy.

A

The Summerville team ........... the match.
ITI. Refer to the context:-

1. “Please come for practice.”

1) Name the lesson and its author.

i1) Who said this and to whom?

iii) Why was it said?
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“And now, start running around the field.”
1) Who was speaking this?

ii) Why was it said?

“Did Summerville School win the match?
1) Who was asking the above sentence?
ii) Did they win the match?

Give antonyms:-

lose 2. happy 3. refuse 4. lazy
sick 6. fast 7. fit 8. bitter
Lesson - 7
The Camel’s Hump

Answer in one sentence:-

In the beginning, where did the camel live?

Why did the animals complain to the Djinn?

Who is in charge of the ‘All Deserts”?

What did Man want the other animals to do and why?

What did the horse ask the camel to do?

What made the three very angry and hold a meeting in the corner of the
howling desert?

Where is this chapter adapted from?

What was the Djinn doing to the back of the camel?

What is the purpose of the Djinn to have the hump on the camel?
What do we call the “humph’ on the camel’s back now?

Fill in the blanks:-

The camel lived in the ............. of the Howling Desert.
The Animals were helping ...........

The Ox had an ............. on his neck.

The Camel looked at his own ............ in the pool of water.
The camel can store............ in its hump for ......... days.
The ........ is in charge of all Deserts.
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III. Refer to the context:-
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IV.

A e A G

H
e

“The Humph - thing in the Desert won’t work™.
1) Who spoke these words?

ii) To whom were they spoken?

iii) When were the words spoken?

“Is it right for anyone to lie idle?

i) Who spoke the above words?

ii) To whom wre they spoken?

iii) When were these words spoken?

Give antonyms:-

begin 2. long 3. laugh
anything 5. right 6. love
Lesson - 8
Rude Ruby Robot

Answer in a sentence:-

How many Robots were studying in class 3?

Why did Rude Ruby Robot have no friends?

How does friendship work?

To what name did 3R change his name into?

Whom did Rude Ruby Robt push in class 3?

Who became Rude Ruby Robot’s friend?

Was the answer correctly told by Rude Ruby to the teacher.
Why do you think Rude Ruby was rude, selfish and stubbonr?
What are the changes that had happened after Ruby met Billy?
What did Billy tell Ruby?
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Fill in the blanks:-

The students of class 3 were actually ..........

Ruby was ........... of the class.

Friends are never ..............

Ruby should have been feeling ......... for what she did to Billy.
The teacher sternly asked Ruby to .......... to Billy.

. Refer to the context:-

“I won’t”, the person retorted

1) Which lesson is the above extract taken from?

i1) Who is the ‘I’ in the extract?

iii) Why is the person saying so?

“Why? I just pushed you”.

1)  Who said this and to whom?

ii) Is the person saying the above sentence politiely or rudely?
iii) Who pushed whom?

Think and answer:-

Why was she surprised when Billy wanted to her friends with her?

Give Antonyms:
1. rude 2. little 3. avoid 4. recent
5. loud 6. push 7. together 8. selfish
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ANSWER KEY
Lesson - 5
The Spider and the Fly

Everyone knows that the spider’s web or parlour is a snare to easily attract
other insects.

The spider’s web has pretty curtains drawn around, the sheets are fine and
thin.

The author advises that don’t listen to idle, silly, flattering words and to
close your heart, ear and eye.

The spider admits that she is not as silly as she looks.

The winding stair leads to the spider’s parlour.

A winding stair leads to the spider’s web.

The spider uses the words pantry and goodies.

The fly was flattered when the spider sang for it and described her beauty
of her wings. So she flit back to the web.

party 2. and thin sheets 3. flit 4. the spider

smarter 6. crest, wings 7. heart, ear and eye

1) Lesson 5 The Spider and the Fly

i) The fly to itself

iii) The fly was taken away by the flattering words of the spider and so it
said this.

i) The fly says this to the spider.

ii) “You’is the spider.

iii) ‘me’ is the fly

1. discomfort 2. hatred 3. stationary 4. foolish

5. unlearn



Lesson 6
Miss Matty Plays a Game

Only one month was left for the annual match to begin.
Miss Matty was talking a geography lesson on volvanoes.
It was Miss Swamp.

After ten days Coach Ahuja returned.

They won by two goals.

Mr. Nair was the principal of Summerville shcool.

At 5 a.m. in the morning.

Miss Matty became Miss Swamp.

A S AN U i e

They wer Miss Matty and Miss Swamp.

_
e

Yes, they won the match by two goals.
1. Sick 2. Matty 3. Obey 4. School football

5. won

|
]
.

II1.i) ‘Miss Matty Plays a Game’ written by Sutapa Basu, published at
readomania.com.
ii) It was said by Coach Ahuja to the boys of football.
iii) The coach wanted to train them for the match.
2. i) Miss Matty.
ii) It was spoken to start the football practice.
iii) To make them work hard.
3. 1) It was asked by Miss Swamp.
ii) Yes, they won the match.
IV. 1. win 2. unhappy 3. accept 4. active
5. healthy 6. slow 7. unfit 8. sweet
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Lesson - 7

The Camel’s Hump

In the beginning the camel lived in the middle of the Howling Desert.
It was because the camel just said ‘Hump’ and did not do any work.
The Djinn is in charge of all the deserts.

Man wanted the other animals to do double-time work to make up for
the camel’s work.

The horse asked the camel to come out and trot like them.

The animals were not happy to do the double-time work and hence held
a meetin.

It is adapted from “How the Camel Got His Hump” by Rudyard Kipling.
The Djinn had started puffing up and up in to a great big humph.

The camel would be able to work then for three days without eating
because it can store food in its hump.

1. middle 2. man 3. yoke

4. reflection 5. food, three 6. Djinn

II.11) Man spoke these words

IV.

ii) It was spoken to all the other animals.

iii It was spoken when the camel did not do its work.
1) It was spoken by the horse.

ii) To Djinn of all Deserts.

iii) It was spoken in the meeting of all the animals.

1. end 2. short 3.cry

4. everything 5. wrong 6. hate
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Lesson - 8
Rude Ruby Robot

There are atleast thirty robot studying in class 3.

It was because she was Rude.

Only throug teamwork.

Into Rocking Ruby Robot.

She had pushed Billy.

Billy had become Ruby’s friend.

No, she told the wrong answer.

It was becase she was told by noone how to behave.

Ruby understood that she should learn to forgive and forget her friends
and behave politely.

Billy told Ruby, that it was alright that she had pushed him and that it did
not matter and she can be his friend.

1. robots 2. rudest 3. rude 4. remorse 5. apologise
i). Lesson 8 Rude Ruby Robot

ii) It is Ruby

iii) Ruby did not want to apologise to Billy

i) Ruby to Billy

ii) Ruby is saying this rudely.

iii) Ruby pushed Billy

1. It was because Ruby was not taught by anyone how to behave politely.
1. polite 2. much/more 3. engage 4. late

5. soft 6. pull 7. seperate 8. generous
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EVS
Chapter - 8
Insects and Worms
Fill in the blanks:-
A worm body is divided into many ...........
Bees live in ..............
The body of an insect consist of ............ parts.
.......... ants eat only fruits and grass.
.......... is an example of water insect.
Give examples for
Two examples of worm -
Water insects -
Two social insects -
Diseases spread by housefly -

Two insects using wings -

. True or False

All the insects help us.
Insects have backbone.
Queen ant collects the food and take care of the colony.
Earthworm and leeches are examples of worms.
All insects have seven legs.
Chapter - 10

Food for Everyone
Fill in the blanks:-
........... is the an example of cereals
We must drink plenty of ...........
................. helps our body to grow
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1.

.......... is a complete food.

People in the ....... states generally eat rice and rice products.
Give examples for

Two sea food eaten by us-

Name the two staple food-

Name any two nutrients-

Name any 2 underground stem-

Name any product we get from animals-

Chapter -11
Cooking Food
Fill in the blanks
Pulses and rice are ............ in water.
We eat some food .............. and cook others.

Puris and pakoras are cooked by .........
.......... and tandoors are used in villages to cook food.

The ......... are made of different shapes and sizes.

True or False

People use induction stove for cooking food .
A solar cooker uses sunlight as fuel .
Cooking food makes it unsafe to eat.

Fried food is oily and good for health.

We should not wash vegetables after cutting.

Give examples
Two examples of utensils used in your house.
Name two types of fuel used for cooking in villages.

Two different metals which is used for making utensils
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Two ways of cooking food
Two food cooked by baking.

L-12
Houses we live in
Give examples
Two model of kachcha house-
Two special houses-

|
1
2
3. Two types of pattern used to decorate the house-
4. Two materials used to make puccahouse-

5

Two things a good house should have-

II  Fill up:
1. Houses in the hilly areas are made of ......
20 e kills germs.
We must ......... waste every day
4. A house floating on water is called a .......

An area,especially in a city ,with a lot of huts close together is called

III. True or False:

Kachcha houses are made of bricks and cement.

A house protect us from only rain.

Houses are built according to the climate of a place

Wigwams are houses with rounded roofs.

A

Curtains protect us from dust and too much sunlight.
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Answer Key
Chapter - 8 Insects and Worms

I. 1. Segments 2. Colonies 3. Three
4. Black 5. any answer (mayflies/stoneflies)
II. 1. Earthworm, leeches 2. Mayflies/Stoneflies
3. ant, honeybee 4. typhoid, dysentery
5. dragonfly, butterfly
III. 1. False 2. False 3. False 4. True 5. False
Chapter - 10 Food for Everyone
I. 1. Rice 2. water 3. Proteins
4. Milk 5. southern
II. 1. fish, crab 2. rice, wheat
3. Proteins, vitamins, minerals 4. potato, ginger
5. honey, milk
Chapter -11 Cooking Food
I. 1. boiled 2. raw 3. frying
4. Chullahs 5. utensils
II. 1. True 2. True 3. False
4. False 5. True
II. 1. wok, pan 2. coal, cowdung cakes
3. brass, steel 4. boiling, baking

5. cake, bread

25



L-12

Houses we live in

I. 1. hut, tent 2. wooden house, stilt houses
3. rangoli, alpana 4. sand, bricks
5. verandah, doors
II. 1. wood 2. sunlight 3. dispose
4. houseboat 5. slum
III. 1. False 2. False 3. True
4. True 5. True
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19.
20.

MATHS
Chapter - 4
MULTIPLICATION

Fill in the blanks.

8 spiders have ............ legs.

Any number multiplied by zero is always ........

The numbers that are multiplied to get a product are called ........
Multiplication is also called repeated .......

7x7 [ ] 0%7(use>, <, =)

609 x 10=........
The product of § X 5 X O is ........
9 X . =81

Number of days in 2 weeks is .........

The product of (3 X 6)x100 is ........

TxX5=.... X7

........ X 900 = 9000

a) How many oranges are there in a dozen?
b) ......... earrings in 5 pairs.

43 x ... =97x0

3 dozen eggs = ............. eggs.

The product of 12 X 10 X 4 is ........
5X8tens=.....

Product of smallest 3 digit number and the greatest 1 digit number is ..
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I1.

10.

11.

12.

13.

14.

15.

Do as directed:

A postman delivers 235 letters everyday. How many letters does he
deliver in 10 days?

Shreya has 52 ten rupee notes. How much money does she have?
Multiply

a) 679 x 4 b) 24 x 7 c) 28 x 32

There are 200 fishes in each tank. How many fishes in 4 tanks?

18 bikes 2 people on each bike. How many people in all?

A dring factory produces 40 cans each minute. How many cans are
produced in 10 minutes?

A queen had 16 children. She gave each of her 14 children 8 gold coins
each. How many gold coins did she give in all?

Multiply

a) 89 x 48 b) 786 x 7 c) 17 x 43

A strip of medicine has 15 tablets. How many tablets will a dozen such
strips have?

How much do 58 pencils cost at T14 each?

A fruitseller bought 3 baskets of 252 mangoes each and 3 baskets of
175 chickoos each to sell in the market. How many fruits did he have
to sell in all?

A large hospital has 157 rooms for patients. If each room has 7 beds.
How many beds are there in all?

Julie work as a nurse in a hospital. She works 8 hours a day for 6 days
a week. How many hours does she work in 25 weeks?

For Republic day, each child in Class Il A made 25 flags. If there are
39 children in Class III A. How many flags were made in all?

Shilpa can skip 26 times in one minute. How many skips can she make

in half an hour?
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10.
I1.
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13.
14.
15.
16.
17.
18.
19.
20.

Chapter - 5
DIVISION

Fill in the blanks.
........ is the symbol for division.

The answer in division is called ......

0+45=.....

69+69=....

The number to be divided is called the ...........
87+ 1=.....

15 shared equally by 3 is .......... for each.

Dividend + Divisor = ........

Which symbol makes the sentence true?

18] 6=3

a) + b)+ ¢ X

The number that we are dividing by is called .......

There are ....... 6’s in 30.

100 = ........ =1

16+4=..... as4 x4= ..

Any number divided by itself will give ........ as the quotient.
12 put into equal groups of 4 are ......... groups.
If1x3=3,3+3=......

....... +5=2

49 x 1149+ 1 (use >, <, =)
If 10 is half of a number, the number is ..........

If 20 is double of a number, the number is .......
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I1.

10.
11.
12.
13.

Do as directed:
Solve using repeated subtraction
a)10+2=
In the division statement 2 x 8§ = 16 identify dividend, divisor and
quotient.
Write multiplication facts for
a) kX k*k

* % %
Write division facts for
a) O0O0O

0000
12 apples. 4 bowls. How many apples in each bowl?
Use the numbers 45, 5, 9 to build all the multiplication and division
facts.
Use each multiplication sentence to write two division facts
a)4 x 6=24
Solve
a)36+9= b)48 ~ 8= )49+ 7=
Fifty four balloons are distributed equally among 6 girls. How many
balloons does each girl have to blow?
Divide the smallest 2 digit number by 1, the answer is ......
How many 10 rupee pens can I buy with 50 rupees?
How many times can 8§ be taken away from 567
Which of the following is the same as 5 times 7?
a)5+5+5+5+5 b) 7+7+7+7+7
)7 XTxXTXTxT d) 5+5+5
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14. There are 2 coins in the first pile, 3 coins in the second pile, 3 coins in
the third pile. Abhay equally shares the coins with Aadith. How many
coins does Aadith get?

15.  Which of these division problems has an answer 8?

a) 18 +2 b)32+4 c)27+3
Chapter - 6
MORE DIVISION
I Fill in the blanks.
1 Dividend + ........ = Quotient
2. 42+6=.....
3 (Quotient X Divisor) + ........... = Dividend.
4. 22+2 Q=..... ,R= ...
5. The number that is left over in division is called the ........
6. 63+7 =....
7. 376+2—> Q=188 ,R=0-T/F
8. 20+8 Q=....... ,R= ...
9. 86+9 Q=...... ,R= ...
10. Double of 50 =..........
11. Inthe division, 75 + 5, the Quotient is ........
12. Inthe division 759 + 4 , the remainder is .......
13. Division is repeated ............
14. 699+8,Q=..... ,R=........
15. 85+6,Q=..... ,R=.......
16. Check whether the given quotients and remainders are correct. Circle

the ones which are wrong.

a)70+3 Q=23,R=1
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17.

18.
19.

20.

I1.

b)S6+6 Q=9,R=0

c)22+8 Q=12,R=8

d)91+7 Q=3,R=0

604 + 6, from this division question find out dividend, divisor, quo-
tient and remainder.

If quotient = 10, divisor = 5, remainder = 2, then dividend = .......

Tick the correct remainder

a) 203 + 2
4 )3 i)l
b) 119 +3

)3 )2 i)l
Amit is 2926 days old. To find his age in weeks, you will divide 2926

a) 1 B3 o5 d)7

Do as directed:

Which is larger-49+1 or 0+49

8 erasers cost I16. What is the cost of an eraser?

For a party 40 chairs were arranged in 5 rows. How many chairs did
the host arrange in each row?

Reena pastes 6 stamps on one page of her stamp album. How many
pages will she need to paste 96 stamps?

James planted 75 trees equally in 3 rows. How many trees did he plant
in each row?

Akhila distributed 24 chocolates equally among 8 children. How many
chocolates did each child get?

63 books were kept on shelves with 9 books on each shelf. How many

shelves were used?
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10.

I1.

12.

13.

14.

15.

A e SN e

10.

Divide

a)428 + 4 b) 174+ 6 c)73+3

How many pairs are there in 24 earrings?

A book of 36 pages had 6 chapters of equal pages. How many pages
were there in each chapter?

If 5 slabs of chocolates cost ¥95. What is the cost of 1 slab of choco-
late?

How many pairs in 32 socks?

8 icecreams cost I464. How much does 1 icecream cost?

350 books were to be arranged in 6 book shelves. How many books
would be there in a shelf? How many would be left over?

Divide

a) 500 ~ 4 b) 804 ~ 6 c)432+9
Chapter - 7
FRACTIONS
Fill in the blanks.
L issameas........

2
In the fraction % , the numerator is .......

When the numerator is 1, the fraction is called ........ fraction.
A fraction that has same numerator and denominator has the value....

Two third of the national flag is white ......... True/False.
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11.
12.
13.
14.

15.

16.

17.

18.

19.

20.

1L

+ of an hour=........ minutes.
Fraction with numerator 15 and denominator 19 is ........

The fraction for three fourths is .....

7 The fraction for the unshaded part is ......

Out of 12 chocolates, Reghu ate one fourth of the chocolates. How

many did he eat?

The fraction for three mangoes out of five fruits is .........

1 ofadozen eggs=......... eggs.

The fraction for the shaded area is ........

Which fraction is equal to 1?

)i b3 o3

Do as directed

Ajay had 5 blue balls in a bag. He put 3 red balls in the bag. What

fraction of the balls was red?
Which shape is shown half shaded?

D) Ly b)% c)
177777

There are 10 fruits in the basket. 4 are apples and 6 are oranges. What

fraction is of oranges?

In a test Anu got 8 marks out 15. What fraction of the mark did she get?
What fraction of the Indian flag is white?

Ravi and Manu collected 15 stamps. As Manu collected one-fifth of

them. How many stamps did Manu collect?
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10.

I1.
12.

13.

14.
15.

There are 20 people standing in a queue at the ticket counter. One-
fourth of the people in the queue are women. How many women are
standing in the queue?

There are 8 birds on a branch of tree. One half of the birds flew away.

How many birds are left on the branch?

Complete
a b C d
Numerator 5 1
Denominator 8 7
. 1 2 4
Fraction 3 7 9

What fraction of the shapes are triangles?
AL I AOO A ]
How many fourths make up a whole?

How many more parts are to be shaded to make % part shaded?

Out of 24 stationery items in a bag. % " are pencils. How many pencils
are there?

How many months are in + of a year?

Nisha got 4 pastries from a bakery. She served 2 of them to the guests
and kept the remaining in the refrigerator. What fraction of the pastries

are kept in the refrigerator?
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Chapter - 10

TIME
Fill in the blanks.
A quarter of an hour = ........... minutes.
AM stands for .............
The short hand of the clock is .......... hand.
Half an hour means ............ minutes.
The hour hand takes .......... minutes to complete 1 hour.

The month which has neither 31 days nor 30 days is

........... hand moves fastest in a clock.

The first month of the year is ..........
1 millenium = .... years.

12 hours + 12 hours = ..........

The minute hand moves ........ times round the clock in a day.
2 hours = ........... minutes.
There are .......... days in a leap year.

2 hours after 3:45 is ..........
1 hour before 5:20 1s .........
Do as directed.

20 minutes to 2, can be written as

a) 1:40 b) 20:2 c)5:10
4:45 pm is
a) morning b) afternoon  ¢) night
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10.

I1.

12.

13.

14.
15.

Write 9:15 pm in words

Meenu had her lunch at2 ............

a) am b) pm c) cm

Which is the 6th month of the year?

Which day comes last in a year

a) Independence day

b) Republic day

c¢) Childrens day

How much time will quarter past 4 takes to be half past 4
a) 6 hrs b) 60 minutes ¢) 15 minutes
Navya was born on 29th february. Her birthday comes

a) every year b) twice in a year c) after every 4 years
It is 2:00 pm now. What will be the time after 2 hours.
Match

Quarter to 4 4:30
Quarter past 4 3:45
Half past 4 4:15

Maya and Seema have been friends for 2 years. How many months
make 2 years?

If the date was 7th on Saturday. What will be the date on next Satur-

day?
Draw a clock to show the time
a)7:30 b)2:45 c)9:15

How many months in a year have 31 days. Name them.
If today is Thursday, what day was it day before yesterday.
a) Tuesday b) Friday ¢) Sunday
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5)
9)
13)
16)
19)
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Answer Key
Chapter - 4
MULTIPLICATION

Fill in the blanks.

Product 2) 2 3) 64
Factors 6) addition 7)>

0 10) 9 11) 14

5 14) 10 15)a) 12
0 17) 36 18) 480
400 20) 900

Do as directed:

2350 letters

3520

a) 2716 b) 168 c) 896
800 fishes

36 people

400 cans

112 coins

a) 4272 b) 5502 c) 731
180 tablets

812

1281 fruits

1099 beds

1200 hours

975 flags

780 skips
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15.
17.
19.

IL.

A

Fill in the blanks.

+ 2.
0 4.
dividend 6.
5 8.
b) + 10.
5 12.
4,16 14.
3 16.
10 18.
20 20.

Do as directed:

10-2=8 (1)
8-2=6 )
6-2=4 3)
4-2=2 (4)
2-2=0 (5)

2 - Dividend, 8- Divisor,
a) 3x2 =6, 2x3=06
a) 8+2=4, 8+4=2
3 apples

Multiplication facts =5 x 9=45,9 x 5=45

Chapter - 5
DIVISION

Product
1

87
Quotient
divisor

100

16- Quotient

Division facts =45+9=5,45+5=9

24+4=6, 24+6=4
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10.
11.
12.
13.
14.
15.

o © Ny kv D ==
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a)4 b) 6 c)7
9 balloons

10+1=10

5

56 + 8 =7 times

C

4

b)32+4

Chapter - 6
MORE DIVISION

Fill in the blanks.
Divisor

7

Remainder
Q=11,R=0
remainder

9

T
Q=2,R=2
Q=9,R=5
100

15

3

Subtraction
Q=87,R=3
Q=14,R=1
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16.

17.
18.
19.

)
S

I = I e

e e e e
A e e

b)56+6 Q=9,R=0
€)22+8 Q=12,R=8
d)91+7 Q=3,R=0

dividend = 604, divisor = 6, quotient = 100, remainder = 4

52

a) iii) 1

b)ii) 2

d)7

Do as directed:
49 + 1

2

8 chairs

16 pages

25 trees

3 chocolates

7 shelves
a)Q=53,R=4
12 pairs

6 pages

%19

16 pairs

358

Books in a shelf = 58, Left over =2
b)Q=134,R=0

a)Q=125,R=0

41-

b)Q=29,R=0

¢)Q=24,R=1
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Chapter - 7

42

FRACTIONS
Fill in the blanks.
one half 2. 3
unit 4. 1
F 6. 4
Fraction 8. 9
Quarter 10. 3
15
20 12. IT)
3 1
14.
3 chocolates 16. 9
3
5 18. 6
2 3
5 20. %
Do as directed
3
5 2. b
6 8
0 4 5
;— 6. 3 stamps
5 women 8. 4 birds
a b c d
Numerator 5 1 2 4
Denominator 8 3 7 9
. 5 1 2 4
Fraction . 3 = 9
3
10
4




12.
13.
14.

15.

— O N W W = -

A S RN I S e

3
8 pencils
3 months

4 2

Fill in the blanks.
15

hour

60

Second

4 o’clock

30

January

24 hours, 1 day
120

5:45

Do as directed.
1:40

afternoon
Quarter past 9
pm

June

Childrens day
15 minutes
after every 4 years
4:00 pm

Chapter - 10
TIME
2. antemeridian
4. 30
6. February
8. 100
10. 365
12. December
14. 1000
16. 24
18. 366
20. 4:20
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10.

11.
12.
13.

14.
15.

Quarter to 4 3:45
Quarter past 4 4:15
Half past 4 4:30
24 months

14%

7 months - January, March, May, July, August, October and December

Tuesday

st st skesfeseoskoskeosk
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